the a4 A 1= AABC ] WAlolth /BIC = 130°Y o, /A ]
717

D 80° @ 70° ® 60° @ 50° ® 75°



2.

HoPAIHE ABCD oA /BCO = 70°,
/EDO = 30° € ©j, /DOC ¢] 37]=2

@ 80° @ 85° @ 90°
@ 95° ® 100°






4.

T2 19 9] AABC °l4] AD 7} A 9] £]7}e] o] 5

Zol?

5



=9 Zol7t 24 & wfj, AC 2] Ao|S atoiat,




7t Az o] dol7k 242 2.5m , 2m 91 A4 ] 7HA o] 5uF Yol &
o, 7k Al 2] o]} ZF2F 7.5m , 6m Q1 B2 FH2| 3] 7HAL27
(2, M9 7142 A o] ool vlgit)

@ 309 A @ 359 A ® 409F ¥

@ 459+ A ® 509 ¢



4cm, (PAC =

@® 36 @ 44 ® 46 @ 54 ® 58



8. TS IdA A 0 .C = 90° Q1 AZHAZHE ABC 2] HlH 9]
Z7o|th. LOCB : tOCA =2 :3 ¥ uff, zx &] 7|5 F5}of=h.

A

@® 105° @ 106° ® 107° @ 108° ® 109°



A D

O,
0,

® 50° @ 55° ® 60° @ 65° © 70°



10.

Q017} 60 cm? ) THe WA ABCD o 4] ol
Tatolat,

A D

P

=]
T



11. o2 194 oABCD+ AD // BC ¢l Aftta]&o|th. AB = AD =
CD = %@%} M. /DBC 2| A7) atolat

A D




12. o a3 -2 AABCo|A AB//DE®|1, AABC = 30, ADBC =
244 W], AABE 9] H o] & F5loizt,

A




13. oS 204 DE//BC, ¥ G aABC 9] BAZA0 1, AABC

36cm? ¥ W], ADFG 9] Yo]& F+5}oi=t.

A




14. BPAHY ABCD A BC, DCQ 58 242 M, N ©]
BD ¢ AM , AN #+9] W#0] P, Q ©|t}. bABCD = 90cm?
o, AABP 9] go]=?

A D

97/

M C

@ 10cm? @ 12cm? ® 15cm?

@ 18cm? ® 30cm?



15.

o2 IO AABC oA A O &+ 1 = 242 A2He o] @) 7t adolot
/BAD = 30°, /CAE = 40° & W}, ZADE = ( )° o|t}. () <t
gure 5 SLotoiat,

LA
30 A0°

DE






17. o2 139 AABCOIA A ML BC2 ZHoltt. AGLBC, GHLAM
,BC=25cm, GC =5cm ¥ W, AH2] Zo]& F5}1H?

@ 4 @ 8 ® 12 @ 14 ® 16



18. The T} o] 120] Qo] Yl maFel 120 BL ol &
o7} Auto] H 52 sl Soiz 4 9l o] Hrj 277} 448em?
A, AR B Bl H emd Q17

8cm

| ==

4cm

® 144cm? @ 152cm? ® 164cm?

@ 186cm? ® 224cm?



19. oS I-83} Zo] ALY ABCD & ti2Hd BD o] 4=2]o]
AD, BCo}e n8& Z+ 2+ E, Fetsl1, BF : F

21
OEBFD 9| Ho]& F51H?




20.

AA A217F400m 1 F A1 Aele] ARE 2em 2 YEE A =7t
Ark. o] A oA AA Wol7F 20 km? Q1 BE] Ho|E Fotofet.

a = cm?



